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1. Introduction
Clause 7.11.2.2 describes the service switch procedure within the PIN. When the PINE is discovering for the service by sending the PIN service discovery request it has to include the list of services it is looking for but it is not explicitly mentioned in the procedures.
2. Reason for Change
This pCR adds more clarity to what does the PIN service discovery request and response contains. It is better to carry the list of services which PINE wants to consume instead of getting to know the list of services being offered in the PIN.
3. Conclusions

<Conclusion part (optional)>
4. Proposal

It is proposed to agree the following changes to 3GPP TR 23.700-78 V0.4.0.
* * * First Change * * * *

7.11.2.2
Procedure of service switch internal PIN
Pre-conditions:

1.
The UE Identifier or PIN client Identifier of PINE A or PINE B is available;

2.
The PIN client in PINE A or PINE B has been authorized to communicate with the PEMC;
3.
The PIN client in PINE B can provide the same PIN service as PINE A's traffic flow.
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Figure 7.11.2.2-1: Service switch procedure internal PIN
0.
The PINE A has application layer communication with application server. And the PINE A decides to do the service switch to other PINEs. And the PINE A has already been in a PIN. 
1.
The PINE A trigger the PIN service discovery procedure towards PEMC. This request carries the list of services the PINE wants to consume.
2.
Upon receiving the request, the PEMC performs an authorization check to verify whether the PINE A has authorization to perform the operation. 
Editor's note: The authorization check needs SA3 for feedback. 

3.
The PEMC provides the list of PINE endpoint(s), application client endpoint(s) information that are offereing the requested services to PINE A. The PIN service can be represented by service type that PINE provides or the application client on PINE. If the request fails, the PEMC should give the failure response to indicates the cause of request failure.
4.
The PINE A determines the PINE B for service switch as follow: 
Option A: The PINE A maintains the service towards AS and the service corresponds to a service type, for example, music or streaming media. The PINE A determines the potential PINE B for service switch according to whether this PINE has the capability to carry the service. 

Option B: The PINE A maintains the service towards AS by application client which represented by Application Client ID. The PINE A determines the potential PINE B for service switch according to whether this PINE has deployed the same application client as PINE A. 
5.
(Use PINE B as example) The PINE A has two options to switch the service traffic to PINE B: 

Option A: Step 5a, the PINE A switches the traffic flow directly to PINE B via direct communication or via PEGC, just like the projection. 

Option B: Step 5b, the PINE A relocates the application context from application client in PINE A to application client in PINE B. After the context relocation, the application client in PINE A triggers the application relocation to PINE B. If the PIN client in PINE A or PIN client in PINE B can directly communicate with AS, the application client behaviour in step 5b is replaced by PINE A/B. 
* * * Next Change * * * *

<Proposed change in revision marks>
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